### academic<mark>Journals</mark>

Vol. 8(28), pp. 2710-2723, 9 July, 2014 DOI: 10.5897/AJMR2013.6588 Article Number: E8A32C045939 ISSN 1996-0808 Copyright © 2014 Author(s) retain the copyright of this article http://www.academicjournals.org/AJMR

African Journal of Microbiology Research

Full Length Research Paper

# Bioefficacy of *Trichoderma* isolates against soil-borne pathogens

## N. Srinivasa<sup>1</sup>, T. Prameela Devi<sup>1</sup>, S. Sudhirkumar<sup>2</sup>\*, Deeba Kamil<sup>1</sup>, Jyoti Lekha Borah<sup>1</sup> and N. Prabhakaran<sup>1</sup>

<sup>1</sup>Division of Plant Pathology, Indian Agricultural Research Institute (IARI), Pusa campus, New Delhi-110012, India. <sup>2</sup>Department of Agricultural Entomology, UAS, GKVK, Bengaluru-560 065, Karnataka, India.

Received 24 December, 2013; Accepted 26 May, 2014

The study of morphology and bioefficacy of *Trichoderma* was undertaken to select the effective isolates against soil-borne pathogens. Fifty one (51) isolates (23 isolates of *Trichoderma virens* and 28 isolates of *Trichoderma harzianum*) were morphologically characterised based on the growth characteristics on PDA medium, the size and shape of phialides and conidia.These isolates were screened for bioefficacy against soil borne plant pathogens (*Fusarium oxysporum, Rhizoctonia solani* and *Sclerotium rolfsii*) based on their percent inhibition observed during dual culture, volatile and non-volatile methods. Eight *T. virens* isolates and 12 *T. harzianum* isolates were proven to be potential isolates against the soil-borne pathogens tested. No correlation was found between bioefficacy and morphology in both species isolates.

Key words: Trichoderma virens, Trichoderma harzianum, morphology, dual culture, biocontrol and bioefficacy.

### INTRODUCTION

Trichoderma spp. is cosmopolitan and abundant fungi in soil in a wide range of ecosystems and climatic zones. They are characterized by rapid growth, capability of utilizing diverse substrates and resistance to noxious chemicals (Klein and Eveleigh, 1998). Their economic importance includes their role as primary decomposers, producers of antibiotics and enzymes as well as biocontrol agents against a wide range of plant pathogens (Hjeljord and Tronsmo, 1998; Kubicek and Penttila, 1998; Rossman, 1996; Sivasithamparam and Gisalberti, 1998). Trichoderma spp. may inhibit the phytopathogenic fungi either by inducing resistance and plant defence reactions or by direct confrontation through mycoparasitism and antibiosis as well as competition (Howell, 1998, 2003; Papavizas, 1985; Verma et al., 2007).

In the direct interaction between *Trichoderma* spp. and the phytopathogenic fungi, mycoparasitism is one of the mechanisms observed in which the antagonist coils around the hyphae of the pathogen, develops hook-like structures known as appressoria coupled with production of lytic enzymes and then penetrates the pathogen hyphae (Chet, 1987; Kubicek et al., 2001). Coiling of the phytopathogenic fungal hyphae by Trichoderma spp. is one of the parameters used to characterize the mycoparasitism (Howell, 2003; Rocha-Ramirez et al., 2002). Trichoderma spp. produces a plethora of secondary metabolites showing anti microbial activity (Vinale et al., 2008). The chemical composition of secondary metabolites depends on the strains and classified as volatile (water-soluble) or non-volatile (water-insoluble) compounds (Ghisalberti and Sivasithamparam, 1991).

\*Corresponding author. E-mail: srinivasa @ iari.res.in or cnuupath@gmail.com.

Author(s) agree that this article remain permanently open access under the terms of the <u>Creative Commons Attribution License 4.0</u> International License The knowledge of mechanisms of interaction of *Trichoderma* spp. with phytopathogenic fungi and plant host is of utmost importance to enhance the practical application of these beneficial microorganisms. *Trichoderma* spp. is among the microorganisms most frequently used as antagonists against soil-borne pathogens (Hjeljord and Tronsmo, 1998 and Hyakumachi et al., 1996). Soil-borne phytopathogens are known worldwide for causing root diseases in diverse cultures (Ogoshi, 1996).

Taxonomy of *Trichoderma* is currently based largely on morphological characters such as mycelia growth, phialides shape and size and conidial shape and size. However, most species descriptions are based on examination of a limited number of strains where the morphological differences are clear but these differences become less clear as more strains are studied. This result suggests that there are no enough morphological and cultural characters to reliably define species level (Samuels et al., 2013).

The isolates were identified using morphological characters. *In vitro* bioefficacy tests (dual culture, volatile and non-volatile methods) were performed, against soil-borne pathogens to understand the ability of these isolates to produce water-soluble metabolites or volatile inhibitors. This approach is useful in selecting some potential isolates of *Trichoderma* spp. against soil-borne pathogens.

#### MATERIALS AND METHODS

### Morphological characterisation of Trichoderma isolates

The cultural characteristics of 51 isolates of *Trichoderma* spp. were studied in potato dextrose agar (PDA). The identification was performed using an interactive key for strain identification (Rifai, 1969; Domsch et al., 1980; Bissett, 1991 a, b; Samuels et al., 2013) based on the growth characters on PDA along with microscopic observations of the isolates. Conidiophores branching and apex of the conidiophore disposition, shape and size of the phialides and conidia size and shape were recorded. The photographs were taken under 100x magnification (phialides size and shape and conidial size and shape) and under 10x (conidiophore branching) magnification were measured in micrometer by using ImageJ software.

### Bioefficacy of *Trichoderma* isolates against soil borne pathogens

### Soil-borne pathogens

Soil-borne plant pathogens (*Fusarium oxysporum, Rhizoctonia solani* and *Sclerotium rolfsii*) were obtained from Indian Type Culture Collection, Division of Plant Pathology, Indian Agricultural Research Institute (IARI) and identified based on the morphological characters (Rangaswami, 1958) and maintained in the PDA slants by repeated subculturing throughout the study.

#### Trichoderma isolates

Bioefficacy of *Trichoderma* isolates against three soil-borne plant

pathogens, *viz., F. oxysporum, R. solani,* and *S. rolfsii* were evaluated using dual culture technique and production of volatile and non-volatile antibiotics (Dennis and Webster, 1971a, b).

### Dual culture method

*Trichoderma* isolates were tested for their potential to antagonize *in vitro* against three soil-borne pathogens (*F. oxysporum, R. solani,* and *S. rolfsii*) using dual culture method. The test fungus and *Trichoderma* isolates were grown on PDA at  $28\pm2^{\circ}$ C for a week. A disc of 5 mm of the target fungus cut from periphery of the mycelium was transferred to Petri plate with PDA. *Trichoderma* was transferred aseptically to the same plate. Each plate received two discs, one of *Trichoderma* mycelium and other of the test pathogen, placed 7 cm away from each other. The plates were incubated at  $28\pm2^{\circ}$ C and observed after eight days for growth of antagonist and test fungus, index of antagonism as percent growth inhibition of test pathogens was calculated (Morton and Stroube, 1955) (Figures 3 and 4).

#### Volatile method

The volatile test was carried out to observe the production of volatile inhibitors by *Trichoderma* isolates. The upper lid of PDA plates was inoculated with agar 5 mm disc of *Trichoderma* isolates and the lower lid was inoculated with soil-borne pathogens simultaneously. The two lids were taped together with adhesive tape (Dennis and Webster, 1971b) and incubated at 28±2°C for eight days. The growth of soil-borne pathogens was recorded after 72 h. In the control, soil-borne pathogens were cultured in the same way but without *Trichoderma* isolates in the bottom plate (Dennis and Webster, 1971a) (Figures 3 and 4).

#### Non-volatile method

The non-volatile test was carried out to find the production of water soluble inhibitors by the Trichoderma isolates against soil-borne pathogens (Dennis and Webster, 1971b). The isolates of Trichoderma culture filtrate concentration 7.5 and 15% (v/v) was inoculated in 100 ml sterile potato dextrose broth in 250 ml conical flasks. Inoculated flasks were incubated at 28±2°C for 15 days. The culture was filtered through Whatman No.42 filter papers and filtrate was collected in a sterile flask. The culture filtrate was added to molten PDA medium to obtain a final concentration of 10% (v/v). The medium was poured into the Petri plates at 15 ml/plate and 5 mm discs of pathogens were inoculated after solidification. Control plates were maintained without amending the culture filtrate. Petri plates were sealed with parafilm tape and incubated at 28±2°C for 8 days. Radial growth of soil-borne pathogens was recorded (Figures 3 and 4) and percent inhibition was calculated as per formulae adopted by Garcia (1991) as:

IRG (%) = 100 [(R1-R2) / R1]

where R1 is the farthest radial distance grown by the pathogen in the direction of the antagonist (control) while R2 represents the distance grown on a line between inoculation positions of the pathogen and the antagonist.

### Grouping of *T. virens* and *T. harzianum* isolates based on percent inhibition against soil-borne pathogens.

To select potential isolates of *Trichoderma* species effective against soil-borne pathogens, grouping has been done based on percent



**Figure 1.** Morphological characters of *Trichoderma virens* isolates. a) Mycelial characters on PDA; b) Conidiophores branching in culture tube; c) Phialides; d) Conidia.

inhibition (modified Bell's scale method). Group 1: (>75-100%), Group 2: (50-75%) and Group 3: (<50%) considered as high, moderate and low potential isolates, respectively (Tables 5 and 6).

### RESULTS

### Morphological identification of Trichoderma isolates

Morphological characters such as growth characteristics, phialides disposition, shape and size and conidial shape and size of *Trichoderma* isolates were studied through microscopy and 23 isolates were confirmed as *T. virens* (dark coloured, conidiation effuse, covering the entire plate to green flat pustules concentrated near the margin and 28 isolates *T. harzianum* (pea coloured loosely aggregated flat pustules spread throughout the plate was observed in most of the isolates. Colourless to dark brown colour was observed at the reverse side of the plate) based on key given by Giddens et al. (1958), Rifai (1969) and Bissett (1984, 1991a, b) (Figures 1 and 2)

Concerning *T. virens*, the highest cultural growth was observed in the isolate V-19 (82.50 mm) and lowest in the isolateV-8 (47.50 mm). The length, width at the

middle and width at the base of phialides in isolates of *T*. *virens* studied were from 5.80 (V-10) to 11.21(V-22)  $\mu$ m, 1.40 (V-20) to 3.07 (V-19)  $\mu$ m and 0.99 (V-20) to 2.38 (V-19)  $\mu$ m, respectively. Phialides shape was ampulliform in all *T. virens* isolates studied. Length and width of conidia of isolates were significantly varied ranging from 5.00 (V-1) to 6.59 (V-6)  $\mu$ m and 4.04 (V-1) to 5.26 (V-6)  $\mu$ m, respectively. The length/width (L/W) ratio of conidia ranged from 1.08 (V-22) to 1.31 (V-7)  $\mu$ m. Conidial shape of was obvoid to broadly ellipsoidal in all the *T. virens* isolates (Table 1).

In *T. harzianum* isolates the highest colony growth was obtained with the isolate H-10 (80 mm) and lowest with the isolate H-7 (43.50 mm). The length, width at the middle and width at the base of phialides in the isolates studied ranged from 7.87 (H-18) to 14.52 (H-22)  $\mu$ m and 2.25 (H-11) to 4.23 (H-25)  $\mu$ m and 1.54 (H-9) to 3.27 (H-5)  $\mu$ m, respectively. Phialides shape was ampulliform and laginiform. Length and width of conidia of isolates significantly varied from 3.50 (H-13) to 4.73 (H-17)  $\mu$ m and 2.76 (H-1) to 3.64 (H-20)  $\mu$ m, respectively. The length/width (L/W) ratio of conidia ranged from 1.12 (H-6) to 1.41 (H-5)  $\mu$ m. Conidial shape of *T. harzianum* was obvoid to globose (Table 2).



**Figure 2.** Morphological characters of *Trichoderma harzianum* isolates. a) Mycelial characters on PDA; b) Conidiophores branching in culture tube; c) Phialides; d) Conidia.

### Bioefficacy of *Trichoderma* species isolates against soil borne pathogens

### Effect of Trichoderma virens on radial growth of the soil-pathogens

**Dual culture method:** To select the effective bio-agents of *Trichoderma* isolates against soil-borne plant pathogens *viz., F. oxysporum, R. solani* and *S. rolfsii* (Figure 4), dual culture technique was used. All isolates of *T. virens* inhibited the mycelial growth of the soil-borne plant pathogen significantly over control. Among 23 isolates of *T. virens*, isolate V-9 inhibited the growth of *F. oxysporum* up to 82.31% which was significantly superior over all other isolates, while the isolates V-12 (53.88%) and V-5 (54.85%) showed the lowest inhibition. Isolate V-21 showed the highest percent inhibition of *R. solani* growth (81.76%) as compared to other isolates studied, while the isolate V-4 (42.93%) and V-18 (50.03%) showed the lowest inhibition. Isolate V-8 showed the

highest percent inhibition of *S. rolfsii* growth (87.39%) which was significantly superior to all other isolates, while the isolates V-12 (50.23%) and V-6 (51.47%) showed the lowest inhibition (Figure 3 and Table 3).

**Volatile method:** Among 23 *T. virens* isolates tested for their effect of antifungal volatile metabolites production against the soil-borne plant pathogens, isolate V-7 (77.71%) was the most effective on mycelial growth of *F. oxysporum* followed by isolates V-16 (69.21%). The isolates V-4 (35.79%) and V-6 (41.05%) were the least effective against *F. oxysporum*. Isolate V-17 recorded maximum growth inhibition (76.98%) against *Rhizoctonia solani* followed by the isolates V-12 (74.84%). The isolates V-13 (52.53%) and V-15 (55.71%) were the least effective. Isolate V-8 recorded maximum growth inhibition (88.93%) against *S. rolfsii* followed by the V-22 (85.78%). The isolates V-11 (37.82%) and V-2 (41%) were the least effective (Table 3 and Figure 3).

			Phia	lides			Conidia			
Strain	Culture growth on			Size( µm)			Size (μm)			Poforonooo
	26±2°C 3 days	Shape	Length	Width at middle	Width at base	Shape	Length (L)	Width (W)	L/W ratio	References
V-1	70.00		9.714	2.078	1.504		5.006	4.044	1.238	
V-2	63.50		7.159	1.843	1.259		5.312	4.559	1.165	
V-3	66.00		7.891	2.293	1.201		5.520	4.346	1.270	
V-4	69.00		8.132	2.991	1.823		5.506	4.600	1.197	
V-5	63.50		9.277	2.516	1.455		6.010	5.061	1.188	
V-6	52.50		6.439	1.716	1.170		6.594	5.268	1.252	
V-7	55.00		8.031	2.226	1.331		5.654	4.313	1.311	
V-8	47.50		9.089	2.473	1.555		5.578	4.618	1.208	Rifai (1969) and
V-9	71.00		6.468	1.849	1.197		6.376	5.250	1.215	
V-10	63.00		5.805	1.973	1.263		6.058	4.805	1.261	
V-11	75.00		6.600	1.855	1.326		5.803	4.607	1.260	
V-12	70.00		7.800	2.234	1.475		6.064	4.880	1.243	
V-13	79.00	Ampulliform	9.964	1.709	1.211	Obvoid to	6.133	4.874	1.258	
V-14	75.00	Ampullionn	8.835	2.280	1.661	ellipsoidal	6.459	5.004	1.291	Bisset (1991b)
V-15	75.00		8.235	1.876	1.359	empoolaal	5.572	4.615	1.207	
V-16	73.00		7.184	1.974	1.352		6.173	4.751	1.299	
V-17	65.50		8.206	1.915	1.270		5.397	4.574	1.180	
V-18	66.00		6.426	1.490	1.389		5.465	4.290	1.274	
V-19	82.50		9.351	3.079	2.380		5.650	4.660	1.212	
V-20	61.50		7.445	1.401	0.998		5.817	5.156	1.128	
V-21	77.50		6.933	2.047	1.221		5.535	5.030	1.100	
V-22	79.00		11.210	2.521	2.311		5.368 4.95	4.958	1.083	
V-23	80.00		10.170	2.852	2.211		5.018	4.169	1.204	
S. Em±	0.17		1.07	0.06	0.07		0.19	0.10	0.01	
CD (p=0.05)	1.67		4.22	1.00	1.13		1.03	0.75	0.27	

**Table 1.** Morphological characters used for the identification of *T. virens* isolates.

Values in bold indicate highest and lowest sizes and culture growth of *T. virens* isolate.

**Non-volatile method:** Crude antibiotics produced from culture filtrate of the *T. virens* isolates were tested on radial growth of the soil-borne pathogens. All the isolates were found to reduce the radial growth of the pathogens over the

control. Isolate V-23 (81.80%) recorded the maximum growth inhibition of *F. oxysporum* growth followed by the isolate V-19 (80.15%). The isolates V-3 (58.92%) and V-16 (59.01%) were the least effective. Isolate V-19 (71.61%) showed

maximum growth inhibition of *R. solani* followed by the isolates V-23 (70.14%). The isolates V-18 (43.32%) and V- 5 (47.77%) were the least effective. Maximum growth inhibition (83.22%) was observed with *S. rolfsii* by the isolate V-9

			s		Conidia					
01	Culture growth on PDA (mm) at			Size( µm)				Size( µm)		Defenses
Strain	26±2°C 3 days	Shape	Longth	Width at	Width at	Shape	Length	Width	L/W	References
			Length	middle	base		(L)	(W)	ratio	
H-1	50.00		10.896	3.496	2.435		3.561	2.760	1.290	
H-2	64.50		11.609	3.507	2.081		3.759	3.025	1.242	
H-3	61.00		10.883	4.281	3.182		3.855	3.015	1.279	
H-4	47.50		10.549	3.136	1.965		4.220	3.169	1.332	
H-5	51.00		11.918	4.231	3.275		4.289	3.032	1.415	
H-6	51.00		12.113	2.761	2.102		3.590	3.180	1.129	
H-7	43.50		12.808	3.249	2.112		3.772	2.847	1.325	
H-8	45.00		12.804	2.458	1.786		3.720	3.232	1.151	
H-9	53.50		9.958	2.327	1.546		4.006	2.913	1.375	
H-10	80.00		13.858	3.074	1.911		4.475	3.185	1.405	
H-11	52.00		9.219	2.259	1.711		4.050	3.118	1.299	
H-12	48.00		11.663	3.387	2.053		4.394	3.182	1.381	
H-13	50.00		13.282	3.817	2.558	3.50	3.502	3.079	1.138	
H-14	66.50		14.504	3.786	2.719		4.364	3.279	1.331	
H-15	47.50	Logini form and	12.013	3.585	2.541	Obvoid to	4.575	3.418	1.338	Piecet
H-16	70.00	ampulliform	9.756	3.719	2.533	Globose	4.058	3.212	1.263	(1991b)
H-17	50.00	ampamorni	10.682	2.859	2.588	0.00000	4.735	3.531	1.341	(10010)
H-18	50.50		7.878	3.621	2.223		4.079	3.440	1.186	
H-19	48.00		12.247	3.528	2.143		4.112	3.379	1.217	
H-20	51.00		11.953	3.438	2.094		4.152	3.640	1.141	
H-21	57.00		9.929	3.099	1.786		4.115	3.346	1.230	
H-22	49.00		14.523	3.198	3.141		3.880	3.398	1.142	
H-23	51.00		10.678	2.876	2.584		4.328	3.291	1.315	
H-24	53.00		10.839	3.194	2.161		3.885	3.330	1.167	
H-25	49.50		10.199	4.238	2.896		3.910	3.210	1.218	
H-26	61.00		12.078	2.743	2.592		3.649	3.032	1.203	
H-27	47.50		12.159	2.733	2.391		3.990	3.397	1.174	
H-28	60.00		13.806	3.331	2.348		4.706	3.335	1.411	
S.Em±	0.06		3.21	0.06	0.10		0.08	0.09	0.02	
C.D (p=0.05)	1.06		7.37	1.08	1.33		0.68	0.73	0.34	

Table 2. Morphological characters used for the identification of *T. harzianum* isolates.

Values in bold indicate highest and lowest sizes and culture growth of *T. harzianum* isolate.



Figure 3. List of high and low potential isolates of Trichoderma virens selected from the bioefficacy methods.

followed by the isolate V-8 (78.36%). The isolates V-21 (51.35%) and V-18 (54.50%) were the least effective (Table 3 and Figure 3).

Among all the isolates of *T. virens* tested against three different soil-borne pathogens, highest percent mean inhibition was observed by the isolates V-9 (76.51%) and V-19 (72.38%) with *F. oxysporum.* Isolates V-19 (68.01%) and V-12 (67.37%) with *R. Solani* and isolate V-8 (84.89%) with *S. rolfsii* (Table 7).

### Effects of Trichoderma harzianum on radial growth of the soil-pathogens

**Dual culture method:** Similarly, among 28 isolates of *T. harzianum* tested, isolate H-12 inhibited the growth of *F.* 

oxysporum upto 86.23% which was significantly superior over all other isolates, followed by isolates H-3 (81.35%), while the isolates H-9 (54.92%) and H-24 (60.77%) showed lowest inhibition. Isolate H-26 (84.58%) showed highest percent inhibition of *R. solani* growths as compared to other isolates studied, followed by isolates H-16 (84.50%). The isolates H-6 (55.46%) and H-15 (56.17%) showed the lowest inhibition. Isolate H-11 (85.75%) showed highest percent inhibition of *S. rolfsii* which was significantly superior to all other isolates followed by H-18 (84.42%), while the isolate H-16 (61.25%) and H-14 (64.58%) showed the lowest inhibition (Table 4 and Figure 4).

Volatile method: Isolate H-3 (83.77 %) was found to be



Figure 4. List of high and low potential isolates of *Trichoderma harzianum* selected from the bioefficacy methods.

more effective against *F. oxysporum* pathogen followed by the isolate H-26 (82.47%). The isolates H-6 (65.04%) and H-1 (66.29%) were the least effective. Isolate H-7 (82.63%) recorded maximum growth inhibition in *R. solani* followed by the isolates H-15 (79.48%). The isolates H-2 (57.42%) and H-9 (59.00%) were least effective. Isolate H-28 (76.65%) recorded maximum growth inhibition against *S. rolfsii* followed by H-2 (76.59%) and the isolates H-5 (50.61%) and H-1, H-5 (50.61%) were least effective (Table 4 and Figure 4).

**Non-volatile method:** Isolate H-10 recorded maximum growth inhibition (81.89 %) in *F. oxysporum* followed by the isolates H-16 (78.04%) and the isolates H-24 (39.74%) and H-23 (51.92%) were least effective. Isolate H-9 (87.19%) recorded maximum growth inhibition against *R. solani* followed by the isolate H-7 (83.42%) H-6 (25.53%) and H- 24 (56.45%) were least effective. Isolate H-21 (86.04%) recorded maximum growth

inhibition in *S. rolfsii* followed by the isolates H-23 (83.66%) and the isolates H-7 (63.91%) and H-8 (65.10%) are least effective (Table 4 and Figure 4).

Isolate H-3 (77.70%) showed highest percent mean inhibition of *F. oxysporum*, H-18 (76.29%) in *R. solani* and H-2 (76.35%) in *S. rolfsii* (Table 7).

Results (Tables 5 and 6) of mycelial growth percent inhibition for screening of *Trichoderma* isolates against soil-borne pathogens revealed that there was a clear difference within the isolates of *T. virens* and *T. harzianum* with respect to their percent inhibition against the pathogens tested in different methods used. It appeared that large numbers of *T. virens* and *T. harzianum* isolates fell under the category of Group 2 and very few numbers fell under category of Group 1. From the grouping, eight high potential (V-7, V-8, V-9, V-17, V-19, V-21, V-22 and V-23) and two low potential (V-4 and V-18) isolates from *T. virens* and twelve high potential (H-2, H-3, H-7, H-9, H-10, H-11, H-12, H-16, H-18, H-21, H-26 and H-28) and 2 low potential (H-6 and H-24) isolates

Isolato	Per	cent inhibit oxyspor	tion of <i>Fusa</i> u <i>m</i> growth	rium	Perc	ent inhibitio solani	on of <i>Rhizod</i> growth	ctonia	Perce	nt inhibitio g	n of Sclerotium rowth	n rolfsii	Dual	Volatile	Non-	Grand
ISUIALE	Dual	Volatile	Non- volatile	Mean	Dual	Volatile	Non- volatile	Mean	Dual	Volatile	Non-volatile	Mean	Mean	Mean	Mean	Mean
V-1	68.62	47.43	72.61	62.89	68.33	58.57	55.21	60.70	68.04	53.57	63.60	61.74	68.33	53.19	63.81	61.78
V-2	71.65	43.42	69.67	61.58	64.77	63.08	61.19	63.01	72.55	41.00	63.80	59.12	69.66	49.17	64.89	61.24
V-3	76.46	66.71	58.92	67.36	61.72	59.34	56.73	59.26	62.29	54.34	69.56	62.06	66.82	60.13	61.74	62.90
V-4	66.69	35.79	66.54	56.34	42.93	61.54	54.43	52.97	73.07	46.50	68.65	62.74	60.90	47.94	63.21	57.35
V-5	54.85	65.46	75.55	65.29	60.60	66.76	47.77	58.38	54.25	62.70	71.78	62.91	56.57	64.97	65.03	62.19
V-6	68.69	41.05	72.79	60.84	73.56	70.22	49.96	64.58	51.47	60.79	73.51	61.92	64.57	57.35	65.42	62.45
V-7	64.62	77.71	69.85	70.73	59.40	59.34	65.64	61.46	55.36	65.04	69.15	63.18	59.79	67.36	68.21	65.12
V-8	80.38	57.76	62.13	66.76	67.61	57.14	56.68	60.48	87.39	88.93	78.36	84.89	78.46	67.94	65.72	70.71
V-9	82.31	68.55	78.68	76.51	79.37	60.77	53.74	64.63	55.36	80.40	83.22	72.99	72.35	69.91	71.88	71.38
V-10	74.54	46.05	69.49	63.36	61.79	58.57	55.17	58.51	74.90	47.27	64.91	62.36	70.41	50.63	63.19	61.41
V-11	65.77	56.45	75.55	65.92	73.56	70.33	58.16	67.35	59.97	37.82	71.78	56.52	66.43	54.87	68.50	63.27
V-12	53.88	55.07	75.74	61.56	70.58	74.84	56.68	67.37	50.23	73.18	75.73	66.38	58.23	67.70	69.38	65.10
V-13	68.65	57.76	69.85	65.42	75.30	52.53	55.21	61.01	73.07	41.74	72.69	62.50	72.34	50.68	65.92	62.98
V-14	63.73	67.00	69.67	66.80	55.26	64.51	56.73	58.83	76.01	54.34	56.20	62.18	65.00	61.95	60.87	62.61
V-15	69.58	51.32	60.66	60.52	52.93	55.71	58.20	55.61	68.63	71.56	68.65	69.61	63.71	59.53	62.50	61.92
V-16	72.62	69.21	59.01	66.95	60.56	61.65	53.74	58.65	64.58	42.54	64.71	57.28	65.92	57.80	59.15	60.96
V-17	61.85	53.95	63.60	59.80	55.84	76.98	65.48	66.10	82.94	71.71	71.29	75.31	66.88	67.55	66.79	67.07
V-18	68.62	57.76	74.17	66.85	50.03	67.25	43.32	53.53	54.31	42.51	54.50	50.44	57.65	55.84	57.33	56.94
V-19	71.54	65.46	80.15	72.38	63.51	68.90	71.61	68.01	83.40	64.85	64.21	70.82	72.82	66.40	71.99	70.40
V-20	72.62	56.45	69.67	66.25	51.77	57.91	58.24	55.97	53.07	53.54	55.91	54.17	59.15	55.97	61.27	58.80
V-21	76.54	64.08	69.49	70.04	81.76	61.65	57.44	66.95	64.51	64.45	51.35	60.10	74.27	63.39	59.43	65.70
V-22	78.62	65.46	63.60	69.23	63.51	60.11	62.66	62.09	78.24	85.78	68.65	77.56	73.46	70.45	64.97	69.63
V-23	56.85	66.71	81.80	68.45	54.13	58.57	70.14	60.95	73.07	70.10	58.13	67.10	61.35	65.13	70.02	65.50
Mean	69.12	58.11	69.96	65.73	62.99	62.88	57.57	61.15	66.81	59.77	66.97	64.52	66.31	60.25	64.84	63.80
SEm±	21.66	11.32	32.60		15.52	14.55	6.87		5.46	11.30	44.48					
CD (p=0.5)	18.93	13.68	23.22		16.02	15.51	10.66		9.50	13.68	27.12					

Table 3. Effect of Trichoderma virens on radial growth of soil-borne pathogens on PDA at 26± 2°C at 8 DAI.

Values in bold indicate highest and lowest sizes for the different soil-borne pathogens.

from *T. harzianum* were selected as a promising isolates for the further studies. The high and low potential isolates showed highest and lowest percent inhibition respectively in the three methods used (Table 7).

### DISCUSSION

The present findings suggested that the broad conidiophore, terminated by a cluster of 3-6 closely adpressed phialides, whorls of 2-5,

ampulliform phialides, dull blackish green color mycelium, effuse conidiation, broadly ellipsoid to obvoid, conidia in case of *T. virens*. Similarly in case of *T. harzianum*, whorls of phialides 2-6, ampulliform to laginiform, narrower at the base,

Isolato	Percent inhibition of <i>Fusarium oxysporum</i> growth				Perce	ent inhibition o gro	f <i>Rhizoctonia</i> wth	solani	Perc	ent inhibition o gro	of <i>Sclerotium</i> wth	rolfsii	Dual	Volatile	Non-	Grand
Isolate	Dual	Volatile	Non- volatile	Mean	Dual	Volatile	Non- volatile	Mean	Dual	Volatile	Non- volatile	Mean	Mean	Mean	Mean	Mean
H-1	74.46	66.29	55.77	65.51	70.33	72.44	69.21	70.66	72.83	50.61	70.94	64.79	72.54	63.11	65.31	66.99
H-2	80.46	72.08	59.94	70.82	57.42	57.42	74.34	63.06	78.00	76.59	74.46	76.35	71.96	68.70	69.58	70.08
H-3	81.35	83.77	67.98	77.70	72.83	77.94	62.76	71.18	76.75	71.46	79.11	75.77	76.98	77.72	69.95	74.88
H-4	74.54	79.11	58.17	70.61	65.17	70.02	62.83	66.01	79.42	62.31	68.61	70.12	73.04	70.48	63.20	68.91
H-5	78.38	67.42	63.78	69.86	67.04	73.18	61.51	67.24	74.83	50.61	72.19	65.87	73.42	63.74	65.83	67.66
H-6	74.54	65.04	63.78	67.79	55.46	65.26	25.53	48.75	75.50	66.19	66.23	69.31	68.50	65.50	51.85	61.95
H-7	70.54	76.62	63.91	70.36	61.25	82.63	83.42	75.77	82.00	62.31	63.91	69.41	71.26	73.85	70.41	71.84
H-8	79.46	69.70	70.19	73.12	71.50	62.11	74.47	69.36	72.00	59.75	65.10	65.92	74.63	63.85	69.92	69.47
H-9	54.92	76.73	65.87	65.84	66.50	59.00	87.17	70.89	72.92	68.83	74.46	71.76	64.47	68.19	75.83	69.50
H-10	76.46	69.75	81.89	76.03	76.67	63.80	71.84	70.77	74.83	68.89	70.89	71.54	75.99	67.48	74.87	72.78
H-11	74.46	74.46	52.24	67.05	70.17	73.95	69.21	71.11	85.75	62.31	69.70	72.59	76.79	70.24	63.72	70.25
H-12	86.23	79.00	56.09	73.77	82.08	65.33	62.83	70.08	78.08	66.19	74.51	72.93	82.13	70.17	64.48	72.26
H-13	70.58	72.08	63.94	68.87	66.33	73.18	66.71	68.74	75.50	64.91	72.08	70.83	70.80	70.06	67.58	69.48
H-14	69.00	69.81	75.96	71.59	62.58	76.33	65.46	68.12	64.58	59.75	69.81	64.71	65.39	68.63	70.41	68.14
H-15	64.62	69.70	68.11	67.47	56.17	79.48	64.08	66.57	78.71	63.63	74.46	72.27	66.50	70.94	68.88	68.77
H-16	72.54	80.19	78.04	76.93	84.50	73.25	56.45	71.40	61.25	59.75	67.42	62.81	72.76	71.06	67.30	70.38
H-17	66.69	69.70	69.87	68.75	59.92	66.95	74.47	67.11	78.08	63.60	74.35	72.01	68.23	66.75	72.90	69.29
H-18	80.38	81.49	55.77	72.55	74.17	77.87	76.84	76.29	84.42	73.95	69.75	76.04	79.66	77.77	67.45	74.96
H-19	62.62	74.46	54.33	63.80	65.08	65.41	69.21	66.57	81.92	64.88	75.49	74.10	69.87	68.25	66.34	68.15
H-20	70.58	74.35	48.08	64.33	61.25	68.41	60.26	63.31	78.00	53.17	70.89	67.35	69.94	65.31	59.74	65.00
H-21	78.46	79.00	71.79	76.42	62.50	76.18	81.98	73.55	74.17	61.00	86.04	73.73	71.71	72.06	79.94	74.57
H-22	66.69	69.81	52.24	62.91	71.58	66.14	71.84	69.86	71.58	55.80	79.00	68.80	69.95	63.92	67.69	67.19
H-23	68.62	69.70	51.92	63.41	66.42	65.26	66.58	66.09	74.17	50.61	83.66	69.48	69.74	61.86	67.39	66.32
H-24	60.77	71.05	39.74	57.19	65.08	68.49	56.45	63.34	72.38	61.00	69.75	67.71	66.08	66.85	55.31	62.74
H-25	78.38	72.08	65.87	72.11	62.58	65.33	66.71	64.88	72.83	64.88	74.46	70.72	71.26	67.43	69.01	69.24
H-26	70.62	82.47	59.94	71.01	84.58	73.03	66.58	74.73	66.42	71.39	72.08	69.96	73.87	75.63	66.20	71.90
H-27	78.46	76.73	56.09	70.43	63.83	66.80	60.20	63.61	81.29	64.88	73.32	73.16	74.53	69.47	63.20	69.07
H-28	78.38	69.70	56.09	68.06	74.08	73.18	66.71	71.32	78.75	76.65	72.08	75.83	77.07	73.18	64.96	71.74
Mean	72.97	73.65	61.69	69.44	67.75	69.94	66.99	68.23	75.61	63.43	72.67	70.57	72.11	69.01	67.12	69.41
SEm±	9.28	12.86	29.83		10.08	22.23	10.61		4.99	19.64	9.05					
CD(p=0.05)	12.51	14.73	22.44		13.05	19.37	13.39		9.18	18.21	12.36					

Table 4. Effect of Trichoderma harzianum on radial growth of soil-borne pathogens on PDA at 26± 2°C at 8 DAI.

Values in bold indicate highest and lowest sizes for the different soil-borne pathogens.

whitish green to pale green color mycelium, conidiation effuse, covering the entire surface of the plate, globose to sub-globose conidia. In this

study, colony morphology, phialides and conidial morphology and size could separate *Trichoderma* spp. into *T. virens* and *T. harzianum*. These

findings are duly supported by earlier observations (Rifai, 1969; Domsch et al., 1980, Bissett, 1991a, b; Samuel, 1996, 2006) where they

Inhibition	Group* -	Fus	arium oxyspor	um		Rhizoctonia solar	ni	Sclerotium rolfsii			
		Dual culture	Volatile	Non-Volatile	Dual culture	Volatile	Non-Volatile	Dual culture	Volatile	Non-Volatile	
High	Group-1 (75-100% Inhibition)	V-3, V-9, V- 8, V-22	V-7	V-5, V-9, V-11, V-12, V-19, V-23	V-13, V-21	V-17	0	V-8, V-14, V- 19, V-17, V- 22	V-8, V-22	V-8, V-9	
	Number of isolates	4	1	6	2	1	0	4	Volatile           V-8, V-22           2           V-1, V-3, V-22           2           V-1, V-3, V-20, V-12, V-14, V-15, V-17, V-19, V-20, V-21, V-23           14           V-2, V-4, V-10, V-11, V-13, V-16, V-18, V-16, V-18, 7	2	
Moderate	Group-2 (50-75% Inhibition) Number of isolates	V-1, V-2, V- 4, V-5, V-6, V-7, V-8, V- 10, V-11, V- 12, V-13, V- 14, V-15, V- 16, V-17, V- 19, V-20, V- 22, V-23 19	V-3, V-5, V- 8, V-9, V-11, V-12, V-13, V-14, V-15, V-16, V-17, V-18, V-19, V-20, V-21, V-22, V-23	V-1, V-2, V- 3, V-4, V-6, V-7, V-8, V- 10, V-13, V- 14, V-15, V- 16, V-17, V- 18, V-20, V- 21, V-22	V-1, V-2, V- 3, V-5, V-6, V-7, V-8, V- 9, V-10, V- 11, V-12, V- 14, V-15, V- 16, V-17, V- 18, V-19, V- 20, V-22, V- 23 20	V-1, V-2, V-3, V-4, V-5, V- 6, V-7, V-8, V-9, V-10, V- 11, V-12, V- 13, V-14, V- 15, V-16, V- 18, V-19, V- 20, V-21, V- 22, V-23 22	V-1, V-2, V- 3, V-4, V-7, V-8, V-9, V- 10, V-11, V- 12, V-13, V- 14, V-15, V- 16, V-17, V- 19, V-20, V- 21, V-22, V- 23 20	V-1, V-2, V- 3, V-4, V-5, V-6, V-7, V-9, V-10, V-11, V-12, V-13, V-15, V-16, V-17, V-18, V-20, V-21, V-23	V-1, V-3, V-5, V-6, V-7, V-9, V-12, V-14, V-15, V-17, V-19, V-20, V-21, V-23	V-1, V-2, V-3, V-4, V-5, V- 6, V-7, V- 10, V-11, V- 12, V-13, V- 14, V-15, V- 16, V-18, V- 17, V-19, V- 20, V-21, V- 22, V-23 21	
Low	Group-3 (< 50 % Inhibition) Number	0	V-1, V-2, V-4, V-6, and V-10	0	V-4	0	V-5, V-6, V- 18	0	V-2, V-4, V-10, V-11, V-13, V-16, V-18,	0	
	of isolates	0	5	0	1	0	3	0	7	0	

Table 5. Grouping of *Trichoderma virens* isolates based on percent inhibition against soil-borne pathogens.

characterized different species of *Trichoderma*. The few morphological characters available are variable to some degree with respect to variable climatic and geographic locations, leading to overlap among species.

In the present finding, eight high potential and two low potential isolates from *T. virens* and 12 high potential and 2 low potential isolates from *T. harzianum* were selected as a promising isolates. The high and low potential isolates showed highest and lowest percent inhibition in the three

methods used and against the three soil-borne pathogens tested. The possible explanation of this result may be due to their inherent potentiality to adapt well in introduced conditions (Papavizas, 1985; Bae and Knudsen, 2005), though it rarely occurs (Whipps, 2001). Higher growth rate ability of the selected strains are indicative of their better antagonistic potential. Mathur and Sarbhoy (1978) reported that *T. viride* and *T. harzianum* inhibited the growth of *S. rolfsii* by 88 and 86%, respectively. Mathew and Gupta (1998) showed

that *T. harzianum* exhibited maximum antagonistic activity causing 58.3% inhibition of *F. oxysporum. f.* sp. *lycopersici, R. solani* and *S. rolfsii* followed by *T. hamatum, T. viride* and *T. virens* inhibition by 48.3, 46.1 and 44.9%, respectively. Recently, Noveriza and Quimio (2004) reported that *Trichoderma* spp. were able to cause 66.36% growth inhibition of *F. oxysporum. f.* sp. *lycopersici, R. solani* and *S. rolfsii* through dual culture technique and were also significantly inhibited by *Trichoderma* spp. *in vitro* (Lozoya-

		Fusarium oxysporum			Rhizoctonia sola	ani		Sclerotium rolsfii			
Inhibition		Groups*	Dual culture	Volatile	Non-Volatile	Dual culture	Volatile	Non-Volatile	Dual culture	Volatile	Non-Volatile
High	Group-1 (75-100% Inhibition)	H-2, H-3, H-4, H-5, H-8, H-10, H-12, H- 18, H-21, H-25, H-27	H-3, H-4, H- 7, H-9, H-12, H-16, H-18, H-21, H-26, H-27	H-10, H-14, H-16	H-12, H-16, H-26	H-3, H-7, H- 14, H-15, H- 18, H-21	H-7, H-9, H-18,	H-2, H-3, H-4, H-6, H-7, H-11, H-12, H- 13, H-15, H-17, H- 18, H-19, H-20, H- 27, H-28	H-2, H-28	H-3, H-19, H-21, H-22, H- 23	
	Number of isolates	11	10	3	3	6	3	15	2	5	
Мо	derate	Group-2 (50-75% Inhibition) Number of isolates	H-1, H-6, H-7, H-9, H-11, H- 13, H-14, H-15, H- 16, H-17, H-19, H- 20, H-22, H-23, H- 24, H-26, H-28 17	H-1, H-2, H- 5, H-6, H-8, H-10, H-11, H-13, H-14, H-15, H-17, H-19, H-20, H-22, H-23, H-24, H-25, H-28	H-1, H-2, H- 3, H-4, H-5, H-6, H-7, H-8, H-9, H-10, H - 12, H-13, H- 15, H-17, H- 18, H-19, H- 21, H-22, H- 23, H-25, H- 26, H-27, H- 28	H-1, H-2, H-3 , H-4, H-5, H- 6, H-7, H-8, H-9, H-10, H- 11, H-13, H- 14, H-15, H- 17, H-18, H- 19, H-20, H- 21, H-22, H- 23, H-24, H- 25, H-27, H-28	H-1, H-2, H- 4, H-5, H-6, H-8, H-9, H- 10, H-11, H- 12, H-13, H- 16, H-17, H- 19, H-20, H- 22, H-23, H- 24, H-25, H- 26, H-27, H- 28	H-1, H-2, H-3, H-4, H-5, H-8, H-10, H-11, H-12, H-13, H-14, H-15, H-16, H-17, H-19, H-20, H- 21, H-22, H- 23, H-24, H- 25, H-26, H- 27, H-28 24	H-1, H- 5,H-8, H- 10, H-9, H-14, H- 16, H-21, H-22, H- 23, H-24, H-25, H- 26	H-1, H-3, H-4, H-5, H-6, H-7, H-8, H-9, H-10, H-11, H-12, H-13, H-14, H- 15, H-16, H- 17, H-18, H- 19, H-20, H- 21, H-22, H- 23, H-24, H-25, H-26, H-27 26	H-1, H-2, H- 4, H-5, H-6, H-7, H-8, H-9, H-10, H-11, H-12, H-13, H-14, H-15, H-16, H-17, H-18, H-20, H-24, H-25, H-26, H-27, H- 28 23
Lov	v	Group-3 (< 50 % Inhibition) Number of isolates	0	0	H-20, H-24 2	0	0	H-6 1	0	0	0

Table 6. Grouping of *Trichoderma harzianum* isolates based on percent inhibition against soil-borne pathogens.

Saldana et al., 2006; Choudhary et al., 2007; Kumar and Hooda, 2007; Pan and Bhagat, 2007, 2008).

### Conclusion

The objective of the present study was to inves-

tigate morphology and identification of *Trichoderma* spp. before conducting bioefficacy test *in vitro* as well as *in vivo*. Bioefficacy helps to select some promising isolates of *Trichoderma* species against soil-borne plant pathogens. Fifty one *Trichoderma* isolates obtained from Indian Type Culture Collection were morphologically characterised and identified as *T. virens* (23)

isolates) and *T. harzianum* (28 isolates) on the basis of the literature reported. These isolates were tested for their bioefficacy using 3 methods (dual culture, volatile and non-volatile) against soil-borne pathogens *viz., F. oxysporum, R. solani* and *S. rolfsii.* Out of 51 isolates, 8 isolates of *T. virens* and 12 isolates of *T. harzianum* were proved as potential biocontrol agents.

**Table 7.** List of high and low potential isolates of *Trichoderma virens* and *T. harzianum* selected for molecular and biochemical characterization.

Name of the species	High potential	Low potential	Total	
Trichoderma virens	V-7, V-8, V-9, V-17, V-19, V-21, V-22, V-23 (8 Isolates)	V-4, V-18 (2 Isolates)	10 Isolates	24
Trichoderma harzianum	H-2, H-3, H-7, H-9, H-10, H-11, H-12, H-16, H-18, H-21, H-26, H-28 (12 Isolates)	H-6, H-24 (2 Isolates)	14 Isolates	Isolates

### **Conflict of Interests**

The author(s) have not declared any conflict of interests.

#### REFFERENCES

- Bae YS, Knudsen GR (2005). Soil microbial biomass on growth and biocontrol efficacy of *Trichoderma harzianum*. Biol. Control 32:236-242.
- Bisset J (1991c). A revision of the genus *Trichoderma* IV. Additional notes on section *Longibrachiatum*. Can. J. Bot. 69:2418-2420.
- Bissett J (1984). A revision of the genus *Trichoderma* I sect. *Longibrachiaticum* sect.nov. Can. J. Bot. 2:924-931.
- Bissett J (1991a). A revision of the genus *Trichoderma*. II. Infrageneric classification. Can. J. Bot. 69:2357-2372.
- Bissett J (1991b). A revision of the genus *Trichoderma*. III. Section Pachybasium. Can. J. Bot. 69:2373-2417.
- Chet I (1987). *Trichoderma*-application, mode of action and potential as a biocontrol agent of soil borne plant pathogenic fungi. In: Innovative Approaches to Plant Disease Control (Ed., Chet, I.), John Willey and Sons., New York. pp. 137-160.
- Choudhary DK, Prakash A, Johri BN (2007). Induced systemic resistance (ISR) in plants: mechanism of action. Indian J. Microbiol. 47:289-297.
- Dennis C, Webster J (1971a). Antagonistic properties of species groups of *Trichoderma*. I. Production of non-volatile antibiotics. Trans. Br. Mycol. Soc. 57:41-48.
- Dennis C, Webster J (1971b). Antagonistic properties of species groups of *Trichoderma*. II. Production of volatile antibiotics. Trans. Br. Mycol. Soc. 57: 363-369.
- Domsch KH, Gams W, Anderson TH (1980). Compendium of Soil Fungi. Vol. 12. Academic Press, New York.
- Ghisalberti EL, Sivasithamparam K (1991). Antifungal antibiotics produced by *Trichoderma* spp. Soil Biol. Biochem. 23: 1011-1020.
- Giddens JH and Foster AA (1958). Taxonomic status. Synonym of *Gliocladium virens*. The Catalogue of Life, 3rd January 2011. Published.
- Hjeljord L, Tronsmo A (1998). Trichoderma and Gliocladium in biological control: an overview. Trichoderma and Gliocladium, Enzymes, Biological Control and Commercial Applications, Edited by Kubicek CP, Harman GE, Taylor and Francis, London, UK. 2:131-151.
- Howell CR (1998). The role of antibiosis in biocontrol. In : *Trichoderma and Gliocladium*. Vol. II. (Eds., Harman, G.E. and Kubicek, C.P.), Taylor and Francis, London. pp. 173-184.
- Howell CR (2003). Mechanisms employed by *Trichoderma* species in the biological control of plant diseases: The history and evolution of current concepts. Plant Dis. 87:4-10.
- Hyakumachi M, Villa Juan-Abgona R, Katsuno N, Kageyama K(1996). Isolation and identification of hypovirulent *Rhizoctonia* spp. from soil. Plant Pathol. 45:896-904.
- Klein D, Eveleigh DE (1998). Ecology of Trichoderma. In: Trichoderma

and *Gliocladium. Basic biology, taxonomy and genetics.* (Eds: Kubicek, C. P., Harman, G. E.). Taylorand Francis Ltd., London, 57-74.

- Kubicek CP, Mach RL, Peterbauer CK, Lorito M (2001). *Trichoderma*: from genes to biocontrol. J. Plant Pathol. 83: 11-23.
- Kubicek CP, Penttilä ME (1998). Regulation of Production of Plant Polysaccharide Degrading Enzymes by *Trichoderma*. In: Harman GE, Kubicek CP, editors. *Trichoderma* and *Gliocladium*. Vol. 2. Enzymes, Biological Control and Commercial Applications. London: Taylor and Francis Ltd. pp. 49-71.
- Kumar R, Hooda I (2007). Evaluation of antagonistic properties of *Trichoderma* species against *Pythium aphanidermatum* causing damping off of tomato. J. Mycol. Plant Pathol. 37:240-243.
- Lozoya-Saldana H, Coyote-Palma MH, Ferrera-Cerrato R, Lara-Hernandez ME (2006). Microbial antagonism against *Phytophthora infestans*. Agrociencia 40 (4):491-499.
- Mathew KA, Gupta SK (1998). Biological controls of root rot of French bean caused by *Rhizoctonia solani*. J. Mycol. Plant Pathol. 28:202-205.
- Mathur SB, Sarbhoy AK (1978). Biological control of *Sclerotium rolfsii* root rot of sugarbeet. Indian Phytopathol. 31:365-367.
- Morton DT, Stroube NH (1955). Antagonistic and stimulatory effect of microorganism upon *Sclerotium rolfsii*. Phytopathology 45: 419-420.
- Noveriza R, Quimio TH (2004). Soil mycoflora of Black pepper rhizosphere in the Phillipines and their *in vitro* antagonism against *Phytophthora capsici* L. Indonesian J. Agric. Sci. 6:1-10.
- Ogoshi A (1996). Introduction the genus *Rhizoctonia*. (In: B. Sneh, Jabaji-Hare, S., Neate, S., and Dijst, G. (ed.) Rhizoctonia Species: Taxonomy, Molecular Biology, Ecology, Pathology and Disease Control. Dordrecht, NL: Kluwer Academic Publishers). pp. 1-9.
- Pan S, Bhagat S (2007). Antagonistic potential of *Trichoderma* and *Gliocladium* spp. from West Bengal. J. Mycol. Plant Pathol. 37:235-239.
- Pan S, Bhagat S (2008). Variability in production of extra cellular hydrolytic enzymes by *Trichoderma* spp. and induction of disease resistance in gram (*Ciccer arietinum*). J. Biol. Control (Article in press).
- Papavizas GC (1985). *Trichoderma* and Gliocladium: biology ecology and potential for biocontrol. Annu. Rev. Phytopathol. 23:23-54.
- Rangaswami G (1958). An agar block techniques for isolating soil microorganism with special reference to Pythiacious fungi. Sci. Cult. 24:85.
- Rifai MA (1969). A revision of the genus *Trichoderma*. Mycol. Paper. 116:1-56.
- Rocha-Ramirez V, Omero C, Chet I, Horwitz BA, Herrera-Estrella A (2002). *Trichoderma atroviride* G-protein alpha-subunit gene *tga1* is involved in mycoparasitic coiling and conidiation. Eukaryot. Cell 1:594-605.
- Rossman GR (1996). Studies of OH in nominally anhydrous minerals. Phys. Chem. Miner. 23: 299-304.
- Samuels GJ, Chaverri P, Farr DF, McCray EB (2013). *Trichoderma* Systematic Mycology and Microbiology Laboratory, ARS, USDA. Retrieved December 21.
- Sivasithamparam K, Ghisalberti EL (1998). Trichoderma and gliocladium.

Kubicek, C.P., Harman, G.E. (eds), Vol. 1. Taylor & Francis Ltd., London. pp. 139-188.

- Verma M, Brar SK, Tyagi RD, Surampalli RY, Valero JR (2007). Antagonistic fungi, *Trichoderma* spp: Panoply of biological control. Biochem. Eng. J. 37: 1-20.
- Vinale F, Sivasiihamparam K, Ghisalberti EL, Marra R, Barbetti MJ, Li H (2008). A novel role for *Trichoderma* secondary metabolites in the interactions with plants. Physiol. Mol. Plant Pathol. 72:80-86.
- Whipps JM (2001). Microbial interactions and biocontrol in the rhizosphere. J. Exp. Bot. 52:487-511.